BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

TOTAL AMOUNT BID

1415-0200 (9.2)

\$709,000.00

\$994,901.80

1) DVL ENTERPRISES LLC

2) HARRIS CONSTRUCTION COMPANY, LLC

BIDDER'S NAME

CALENDAR DAYS 50/60

I, RICHARD STAND ELD, P.E., hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE ROADWAY CONSTRUCTION
TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 2 - SIENNA PARKWAY (REBID)
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JULY 30, 2024
LJA ENGINEERING, INC.
C CORTEZ
JULY 31, 2024

RICHARD W. STANFIELD, JR.

144192

CENSE
ONAL
ENGL
ONAL

MARCHARD

CENSE
ONAL

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ROADWAY CONSTRUCTION
TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 2 - SIENNA PARKWAY (REBID)
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JULY 30, 2024
LJA ENGINEERING, INC.
C CORTEZ
JULY 31, 2024

			1) DVL ENTERPRISES LLC 2		2) HARRIS CONSTRUCTION COMPANY, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST 1	OTAL COST
SIENNA VILLAGE OF DESTREHAN SECTION 2-SIENNA PARKWAY (SMUD 5)						
REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY SOUTHBOUND STATION 36+00, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
2 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 36+00, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
3 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY SOUTHBOUND STATION 36+42, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
4 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY SOUTHBOUND STATION 38+50, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
5 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 38+50, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
6 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 39+40, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
7 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 40+14, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
8 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY SOUTHBOUND STATION 42+90, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
9 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 44+76, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
10 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY SOUTHBOUND STATION 46+77, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
11 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 46+77, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
12 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 49+09, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	40	\$60.00	\$2,400.00	\$101.50	\$4,060.00
13 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY SOUTHBOUND STATION 49+87, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	20	\$75.00	\$1,500.00	\$101.50	\$2,030.00
14 REPAIR EXISTING BIRDBATH AT SIENNA PARKWAY NORTHBOUND STATION 51+89, BY GRINDING, OR BY ANY OTHER MEANS NECESSARY (TO BE COMPLETED AT THE DIRECTION OF THE ENGINEER)	LF	40	\$60.00	\$2,400.00	\$101.50	\$4,060.00
15 REMOVE AND REPLACE WHEELCHAIR RAMPS AS PER COMC DETAIL, INCLUDING TRUNCATED DOME PAVER AS NOTED IN THE CONSTRUCTION PLAN SET, COMPLETE IN PLACE	EA	2	\$6,000.00	\$12,000.00	\$6,675.00	\$13,350.00
16 6" OR 4" X 18" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	320	\$10.00	\$3,200.00	\$21.75	\$6,960.00

1415-0200 (9.2)

 Page 2 of 6
 FRN F-1386

 LJA Engineering, Inc.
 LJA Engineering Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE ROADWAY CONSTRUCTION
TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 2 - SIENNA PARKWAY (REBID)
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JULY 30, 2024
LJA ENGINEERING, INC.
C CORTEZ
JULY 31, 2024
1415-0200 (9.2)

				` ,				
				1) DVL ENTERF	PRISES LLC	2) HARRIS CONSTRUCT	TION COMPANY, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
17 REPAIR INLET TOP, COMPLETE	IN PLACE	EA	7	\$1,500.00	\$10,500.00	\$3,625.00	\$25,375.00	
18 INSTALL RAISED PAVEMENT MA APPROVED TRAFFIC CONTROL	ARKINGS (THROUGHOUT ROADWAY), AS PER PLAN	LS	1	\$2,000.00	\$2,000.00	\$14,500.00	\$14,500.00	
	ROUGHOUT ROADWAY) WITH APPROVED CITY OF T, AS PER APPROVED TRAFFIC CONTROL PLAN	LS	1	\$15,000.00	\$15,000.00	\$14,500.00	\$14,500.00	INU'
20 CLEAN AND SEAL EXPANSION J OR APPROVED EQUAL, COMPLE	OINTS (THROUGHOUT ROADWAY) WITH MASTIC, ETE IN PLACE.	LS	1	\$5,000.00	\$5,000.00	\$14,875.00	\$14,875.00	
PRODUCT TO BE TXDOT APPRO	JGHOUT ROADWAY, BY INJECTABLE METHOD, DVED SEALANT, CONTRACTOR TO SUBMIT ROVAL, (TO BE COMPLETED AT THE DIRECTION	LF	1000	\$35.00	\$35,000.00	\$43.50	\$43,500.00	-
22 FORT BEND COUNTY INSPECTION	ON AND ACCEPTANCE FEE, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	
23 FORT BEND COUNTY RIGHT OF	WAY PERMIT, COMPLETE IN PLACE	EA	1	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	
AS PER ATTACHED LAYOUT, IN CONSTRUCTION AND INCLUDIN BARRELS, FLAGMEN, STEEL PL	L FOR CONSTRUCTION ALONG SIENNA PARKWAY, CLUDES ELECTRONIC SIGNAGE DURING G 2 WEEKS PRIOR TO CONSTRUCTION, SIGNAGE, ATES, ETC. AND ALL OTHER APPURTENANCES ASE I REPAIR WORK, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	
CONSTRUCTION AND OR SITE N GREENYARD INC., (CONTACT: A RELATED TO THIS TASK AND TH FORM, LANDSCAPE AND IRRIGA IRRIGATION LINES AND REMOV WITHIN L.O.C. PRIOR TO CONST SHRUBS/GROUND COVERS AND PROVIDE COMPLETE COVERAG REMOVING ALL CONSTRUCTION	DSCAPE AND IRRIGATION AFFECTED BY MODIFICATIONS, CONTRACTOR SHALL USE MAY HOYT; 979.398.2696) TO PERFORM ALL DUTIES HE MINIMUM UNIT PRICE PROVIDED ON THE BID INTON WORK INCLUDES (A) CUT AND CAP ALL AL OF TREES, SHRUBS AND GROUND COVER RUCTION, (B) INSTALLATION OF NEW D. (C) INSTALLATION OF IRRIGATION MEEDED TO SE. NOTE: CONTRACTOR IS RESPONSIBLE FOR N DEBRIS AND INITIAL GRADING NECESSARY TO N 1" OF FINAL GRADE BEFORE TURNING OVER TOR, COMPLETE IN PLACE	LS		\$30,000.00	\$30,000.00	\$150,000.00	\$150,000.00	

80

\$250.00

SIENNA VILLAGE OF DESTREHAN SECTION 2-SIENNA PARKWAY (SMUD 5) SUBTOTAL:

ALTERNATE BID NO. 1 - SIENNA VILLAGE OF DESTREHAN SECTION 2-SIENNA PARKWAY

1 REMOVE AND DISPOSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY SOUTHBOUND STATION 36+00, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DISPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF UNSUITABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER) AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY DOWELS, COMPLETE IN PLACE.

\$160,500.00	\$339,540.00
\$20,000.00 \$29	2.45 \$23.396.00

Page 3 of 6 FRN F-1386 LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ROADWAY CONSTRUCTION
TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 2 - SIENNA PARKWAY (REBID)
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JULY 30, 2024
LJA ENGINEERING, INC.
C CORTEZ
JULY 31, 2024
1415-0200 (9.2)

2) HARRIS CONSTRUCTION COMPANY, LLC

1) DVL ENTERPRISES LLC

				I) DVL ENTERPH	NOES LLC	2) HARRIS CONSTRUCT	ION COMPANT, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
NORTHBOUND STA PROPER DISPOSAL OF UNSUITABLE MA ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8" (OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY TION 36+00, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	105	\$250.00	\$26,250.00	\$292.45	\$30,707.25	nC
SOUTHBOUND STA PROPER DISPOSAL OF UNSUITABLE MA ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8" (OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY TION 36+42, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATTERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	80	\$250.00	\$20,000.00	\$292.45	\$23,396.00	
SOUTHBOUND STA PROPER DISPOSAL OF UNSUITABLE MA ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY TION 38+50, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	80	\$250.00	\$20,000,00	\$292.45	\$23,396.00	
NORTHBOUND STA PROPER DISPOSAL OF UNSUITABLE MA ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8" (OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY TION 38+50, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FESITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL LIS, COMPLETE IN PLACE.	SY	91	\$250.00	\$22,750.00	\$292.45	\$26,612.95	
NORTHBOUND STA PROPER DISPOSAL OF UNSUITABLE M/ ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY TION 39+40, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATTERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	80	\$250.00	\$20,000.00	\$292.45	\$23,396.00	
NORTHBOUND STA PROPER DISPOSAL OF UNSUITABLE MA ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY TION 40+14, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FESITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	296	\$250.00	\$74,000.00	\$292.45	\$86,565.20	

Page 4 of 6 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ROADWAY CONSTRUCTION
TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 2 - SIENNA PARKWAY (REBID)
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JULY 30, 2024
LJA ENGINEERING, INC.
C CORTEZ
JULY 31, 2024
1415-0200 (9.2)

2) HARRIS CONSTRUCTION COMPANY, LLC

1) DVL ENTERPRISES LLC

				1) DVL ENTERPH	IISES LLC	2) HARRIS CONSTRUCT	ION COMPANY, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
SOUTHBOUND STA PROPER DISPOSAL OF UNSUITABLE M/ ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY ITION 42+90, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	80	\$250.00	\$20,000.00	\$292.45	\$23,396.00	
NORTHBOUND STA PROPER DISPOSAL OF UNSUITABLE M ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY ITION 44+76, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	245	\$250.00	\$61,250.00	\$292.45	\$71,650.25	
SOUTHBOUND STA PROPER DISPOSAL OF UNSUITABLE MI ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY TION 46+77, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	80	\$250.00	\$20,000,00	\$292.45	\$23,396.00	
NORTHBOUND STA PROPER DISPOSAL OF UNSUITABLE M ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY ITION 46+77, INCLUDES FULL DEPTH SAWCUT, CURB, AND OF ALL MATERIAL OFFSIFE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	80	\$250.00	\$20,000.00	\$292.45	\$23,396.00	
NORTHBOUND STA PROPER DISPOSAL OF UNSUITABLE MI ENGINEER)AND OF STABILIZED SAND F PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY ITION 49+09, INCLUDES FULL DEPTH SAWCUT, CURB, AND I. OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FESITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	142	\$250.00	\$35,500.00	\$292.45	\$41,527.90	
SOUTHBOUND STA PROPER DISPOSAL OF UNSUITABLE M ENGINEER)AND OF STABILIZED SAND I PLACEMENT OF 8"	OSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY LTION 49+87, INCLUDES FULL DEPTH SAWCUT, CURB, AND L OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ATERIAL (AS DIRECTED BY THE GEOTECHNICAL FESTITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL ELS, COMPLETE IN PLACE.	SY	80	\$250.00	\$20,000.00	\$292.45	\$23,396.00	

Page 5 of 6 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ROADWAY CONSTRUCTION
TO SERVE SIENNA VILLAGE OF DESTREHAN SECTION 2 - SIENNA PARKWAY (REBID)
SIENNA MUNICIPAL UTILITY DISTRICT NO. 5
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
JULY 30, 2024
LJA ENGINEERING, INC.
C CORTEZ
JULY 31, 2024
1415-0200 (9.2)

2) HARRIS CONSTRUCTION COMPANY, LLC

1) DVL ENTERPRISES LLC

				I) DVL ENTERFI	NIGES LLC	2) HARRIS CONSTRUCTI	ON COMPANT, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
NORTHBOU PROPER DIS OF UNSUITA ENGINEER) STABILIZED PLACEMEN	ID DISPOSE OF CONCRETE PAVEMENT AT SIENNA PARKWAY ND STATION 51+89, INCLUDES FULL DEPTH SAWCUT, CURB, AND SPOSAL OF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION ABLE MATERIAL (AS DIRECTED BY THE GEOTECHNICAL AND OFFSITE DISPOSAL, PLACEMENT AND COMPACTION OF CEMENT SAND FOR SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND T OF 8" CONCRETE PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL Y DOWELS, COMPLETE IN PLACE.	SY	145	\$250.00	\$36,250.00	\$292.45	\$42,405.25
PARKWAY N PAVEMENT DISPOSAL C UNSUITABLI OFFSITE DIS SAND FOR S CONCRETE	L REMOVE AND DISPOSE OF CONCRETE PAVEMENT AT SIENNA IECESSARY IN ORDER TO REMOVE THE BIRD BATH AND MAKE TO GRADE, INCLUDES FULL DEPTH SAWCUT, CURB, AND PROPER DIF ALL MATERIAL OFFSITE, INCLUDES OVER EXCAVATION OF E MATERIAL (AS DIRECTED BY THE GEOTECHNICAL ENGINEER)AND SPOSAL, PLACEMENT AND COMPACTION OF CEMENT STABILIZED SUBGRADE, (MINIMUM 2 SACKS PER CY MIX), AND PLACEMENT OF 8" PAVEMENT, 7-SACK, HIGH EARLY, INCLUDING ALL NECESSARY OMPLETE IN PLACE.	SY	500	\$250.00	\$125,000.00	\$292.45	\$146,225.00
SEALING ME	PAVEMENT IN AREAS WHERE APPROVED FORT BEND COUNTY ETHODS WERE USED BY THE CONTRACTOR, AS DIRECTED BY THE COMPLETE IN PLACE	EA	15	\$500.00	\$7,500.00	\$1,500.00	\$22,500.00
ALTERNATE BID N	NO. 1 - SIENNA VILLAGE OF DESTREHAN SECTION 2-SIENNA PARKWAY				\$548,500.00		\$655,361.80
BIDDING SUMMAR	<u>RY</u>			·			
SUBTOTAL SIENNA	A VILLAGE OF DESTREHAN SECTION 2-SIENNA PARKWAY (SMUD 5)			A A A	\$160,500.00		\$339,540.00
SUBTOTAL ALTER	NATE BID NO. 1 - SIENNA VILLAGE OF DESTREHAN SECTION 2-SIENNA				\$548,500.00		\$655,361.80
TOTAL AMOUNT E	SASE BID		9		\$709,000.00		\$994,901.80

Page 6 of 6 FRN F-1386 LJA Engineering, Inc.